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3232Lesson 3232
EXERCISE 1: FACT REVIEW

a. Open your workbook to Lesson 32 and find 

part 1. ✔

 (Teacher reference:)

32
a.    7
  + 4

b.    6
  + 7

c.    7
  + 5

d.    8
  + 7

e.    7
  + 9

f.    4
  + 7

g.    9
  + 7

h.    7
  + 8

i.    5
  + 7

j.    7
  + 6

32

u.    7
  + 6

v.    6
  + 3

w.    6
  + 7

x.    4
  + 6

y.    6
  + 5

x.    6+  6

D.    6
  + 4

k.    8
  + 3

l.    5
  + 8

m.    8
  + 6

n.    8
  + 9

o.    4
  + 8

(Observe students and give feedback.)

 (If some students have not finished after

2 minutes, say:) Stop.

c. Check your work. 

 Say the fact for each problem.

• Problem A. (Signal.) 7 + 4 = 11.

• B. (Signal.) 6 + 7 = 13.

 (Repeat for remaining problems:

 

c. 7 + 5 = 12

d. 8 + 7 = 15

e. 7 + 9 = 16

f. 4 + 7 = 11

g. 9 + 7 = 16

h. 7 + 8 = 15

i. 5 + 7 = 12

j. 7 + 619 1 Tf
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WORKBOOK PRACTICE

a. Find part 3 in your workbook. ✔

 (Teacher reference:) 

32

a. 10 × 8 = 

e. 10 × 4 = 

b. 1 × 4 = 

f. 1 × 9 = 

c.     1 × 7 = 

g. 10 × 6 = 

d. 10 × 7 = 

h. 10 × 2 = 

32
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 Some of these times problems begin with 1 

and some begin with 10.

• Write answers to all the problems.

 (Observe students and give feedback.)

b. Check your work.

• Read fact A. (Signal.) 10 × 8 = 80. 

• Read fact B. (Signal.) 1 × 4 = 4.

• Fact C. (Signal.) 1 × 7 = 7.

• Fact D. (Signal.) 10 × 7 = 70.

• Fact E. (Signal.) 10 × 4 = 40.

• Fact F. (Signal.) 1 × 9 = 9.

• Fact G. 
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k. (Point to second column.) A small number 

is missing in the second column. Say the 

problem for the second column. (Signal.) 8 – 5.

• What’s the answer? (Signal.) 3.

 (Add to show:) [32:4D]

4 3 7

1 5

5 8 13

l. (Point to last column.) A small number is 

missing in the last column. Say the problem 

for the last column. (Signal.) 13 – 7.

• What’s the answer? (Signal.) 6.

 (Add to show:) [32:4E]

4 3 7

1 5 6

5 8 13

 Here’s the table with all the missing numbers.

EXERCISE 5: MULTIPLICATION FACTS

a. Find part 4 in your workbook. ✔

 (Teacher reference:)

3232

 

 

b. 10 

7

 70a. 8 

4

 32
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• Touch family A. ✔

• What are the small numbers? (Signal.) 8 and 4.

• What’s the big number? (Signal.) 32.

b. You’re going to write two facts for each family. 

Remember, the first fact will begin with the 

first small number. The second fact will begin 

with the other small number.

c. Write both facts for family A. 

 (Observe students and give feedback.)

d. Check your work.

• Read the first fact. (Signal.) 8 × 4 = 32.

• Read the second fact. (Signal.) 4 × 8 = 32.

 (Display:) [32:5A]

8 × 4 = 32

4 × 8 = 32

 Here’s what you should have.

e. Write both facts for family B. 

 (Observe students and give feedback.)

f. Check your work.

• Read the  first fact. (Signal.) 10 × 7 = 70.

• Read the second fact. (Signal.) 7 × 10 = 70.

 (Display:) [32:5B]

10 × 7  = 70

7 × 10 = 70

 Here’s what you should have.

EXERCISE 6: ESTIMATION 
 2-DIGIT COLUMN PROBLEMS 

a. Find part 5 in your workbook. ✔

 (Teacher reference:) 

3232

a.   4 2
  + 3 6

b.   1 9
  + 5 3

c.   7 9
  – 2 2
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 You’re going to write an estimation problem 

next to each regular problem.

b. Read problem A. (Signal.) 42 + 36.

• Touch 42. ✔

 What tens number is closest to 42? (Signal.) 40.

• Touch 36. ✔

 What tens number is closest to 36? (Signal.) 40.

• Write the estimation problem and the answer 

next to problem A. 

 (Observe students and give feedback.)

• Everybody, read the estimation problem and 

the answer. (Signal.) 40 + 40 = 80.

c. Now work 42 plus 36 and see how close the 

answer is to 80. 

 (Observe students and give feedback.)

• What’s the answer to the regular problem? 

(Signal.) 78.

• Is that pretty close to 80? (Signal.) Yes.

REMEDY

Part IR
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b. Find part 1 in your textbook. ✔

 (Teacher reference:)

a. Fran had 16 more books than Ted had.
Ted had 26 books.
How many books did Fran have?

b. The green house was 27 years older than the blue house.
The green house was 50 years old. 
How old was the blue house?

c. Rita weighed 18 more pounds than Alice.
Rita weighed 62 pounds.
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c. All the shapes in the top row are flat. All the 

shapes in the bottom row are not flat.

 Tell me the name of each shape that is not flat.

• (Point to F.) What shape? (Signal.) Cube.

• (Point to G.) What shape? (Signal.) Sphere.

• (Point to H.) What shape? (Signal.) Pyramid.

• (Point to II.) What shape? (Signal.) Pyramid.

 (Repeat until firm.)

EXERCISE 9: INDEPENDENT WORK
 ACTION WORD PROBLEMS

a. Find part 2 in your textbook. ✔

 (Teacher reference:)
For each problem, make a number family with the letters for Start and End. 
Then work the problem and write the unit name.

a. Tonya had some pens.
She bought 25 pens.
She ended up with 61 pens.
How many pens did she start with?

b. Jamal had some cherries.
He ate 35 of the cherries.
He ended up with 64 cherries.
How many cherries did he start with?

c. Debbie started out with 85 dollars.
She spent 19 dollars.
How many dollars did she end up with?

 P2

 a. ■
  ■
  ■

 b. ■
  ■
  ■

 c. ■
  ■
  ■
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 I’ll read the directions: For each problem, 

make a number family with the letters for 

SStart and EEnd. Then work the problem and 

write the unit name.

b. I’ll read the problems. Follow along.

• Problem A: Tonya had some pens. She bought 

25 pens. She ended up with 61 pens. How 

many pens did she start with?

• Problem B: Jamal had some cherries. He 

ate 35 of the cherries. He ended up with 64 

cherries. How many cherries did he start with?

• Problem C: Debbie started out with 85 dollars. 

She spent 19 dollars. How many dollars did 

she end up with?

c. These are start-end problems. You’ll work 

them as part of your independent work. 

Remember to write the unit name in your 

answer.

Assign Independent Work, Textbook parts 2–6 

and Workbook parts 6 and 7.

Optional extra math-fact practice worksheets for 

all lessons are available on ConnectED.
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Lesson
Part 1

Independent Work

Part 2

Copy each problem and work it.Part 3

For each problem, make a number family with the letters for Start and End. 
Then work the problem and write the unit name.

32323232
a. Fran had 16 more books than Ted had.

Ted had 26 books.
How many books did Fran have?

b. The green house was 27 years older than the blue house.
The green house was 50 years old. 
How old was the blue house?

c. Rita weighed 18 more pounds than Alice.
Rita weighed 62 pounds.
How many pounds did Alice weigh?

a. Tonya had some pens.
She bought 25 pens.
She ended up with 61 pens.
How many pens did she start with?

b. Jamal had some cherries.
He ate 35 of the cherries.
He ended up with 64 cherries.
How many cherries did he start with?

c. Debbie started out with 85 dollars.
She spent 19 dollars.
How many dollars did she end up with?

 P1

 a. �
  �
  �

 b. �
  �
  �

 c. �
  �
  �

 P2

 a. �
  �
  �

 b. �
  �
  �

 c. �
  �
  �

    P3

 a.      4 8 7 b.     1 2 8 c.     9 5 0 d.     7 0 7


